YEAR 7 — REASONING WITH NUMBER
Developing number sense

Use number facts
Use dlgebraic facts

O

uotient: the resutt of a dwision

: I I
. , I I
By tk: end %fthls “'“E %og;thou/ld bstadf or | Commutative: changing the order of the operations does not change the resutt |
oW (NeLUSE Menlan aacition Sutraction I'I' Ossociative: when you add o muttiply you can do so regardess of how the rumbers are grouped I
* fnow and use mental muttipleation/ diision I Dividend: th ver beina diided |
* fnow and use mental arthmetic for decimals [ DM fh ¢ ﬂug] d dmd '\Qge |
* Pnow and use mental arthmetic for fractions Wisor: the. numper’ we. divide
« Use factors to smpify cakulations : : Expression: a maths sentence with a minimom of two numbers and at least one. math operation (no equais sign |
* Use estimation to check mental cakulations X Equation: a mathematical statement that two things are equdl :
: I |
I |

|| Mental methods for motipieation dison |

Il Muttiplcation is commutative

{Mental methods for addition/ subtraction
|

Oddtion is commutative Subtraction the order has to stay the same Partitioning can help muttipication

The order of addition does not

and subtraction

o0 @ o o0 360 - 147 = 360 - 100 — 40 — 7 Il :: A4x6= A0x6 + 4x6
.. + . . + .. o0 Y1) ) = |¢’ZO+24‘
e o o oo " ” oo ccee - 144
o Number lines help for addtion —
6 + 3 -3 + 0 g A x4 = 4 x2 Dwision is not. gssociative

The order of

Chunking the dision can help 4000 + 25

change the result * Working in 10°s first dids muttiplication does ot How many 255 in 100" then how many churks
mental addtion/ subtraction I change the resutt of that in 4000
—_—_————ee— e e e e e e e e e e e e e e - |_ ______________________ -
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| Mental methods for decimaks | I Mental methods for fractions  tse bar modess where possive |
:Mu[t\plgm@ by a decimal < | will moke the original vale smaler g x 01= =10 | : e per 2 2y rovey | e | I I I I |
Methods for multipication 12 x 003 . I £21kft ' ' T I
| — e w Methods for diison 15 + 005 |1 £al £l4 |
: J2x3236 Lo o saa | Mutiply by poviers of 10 untithe. | : How much ol they e o begi w7 |
| 12 0.0'3;0,036. . 12% 003- 0036 disor becomes an integer : | «—£6—> :
| Methods for addtion 23+24 [ PR ] [ — : - I’ | What is g of £57 I
: i 150 +5 =30 I : 3 + 2 I
4+07=47 I 3 3 I
L L '
| Using factors to simpify cabulations  (— 0xoxexe ) [ oxsiaxs Mitpleaton s commtatie !
: I
: 30« 16 [ 1x5x3xAxAxAx2 ] [ Gx 0% 3 ] Factors con be mupled n any order
_______________________________________________ ]
—————————————————————————————— Ir-—————————————-
| Estimation Number facts Olgebraic facts
| Estimations are useful — especially when using fractions Use :
| and decimais to check if your solution fs possile [ 4457 640 ] [ da+2b=10 ] Bueathng x 2

For muttipication, each vale that is
muttiplied or diided by powers of 10 needs
to happen to the resutt

Most estimations round to | significant figure [ 0la+0b-05 ]

/ Everything + 10

[ atb=5 ]

Estimations are useful — especialy when sing fractions
and decimats to check if your solution is possible

020+

24-50 |

[ 20-8mcu00 |

For dwision you must consider the. impact of The unknown

This is true because even if both numbers
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., 0Odd 2 to the total
the dwisor becoming smaller or bigger quantity isn't
nere round%dotép,}ge()gowould reach Smaller — the. answer wil be bigger changing bt the arbr =7

(it s being shared into less parts) variobies change

The correct estimation would be what s done to
200+ 900 - 1100 Bigger — the answer wil be smaler e the resut

’ (It is being shared into more parts) 4
________________ S |



